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And this woman since she has — X219 719 ¥R 212 779 PRI 298357 1Y
no supportive public awareness, her majority status is flawed.

OVERVIEW

The X723 teaches us that beside that mXw1 M?1N2 oW1 217; there is also 210
917 7% w902 nRwean. Therefore in a case where there is no 91, then the 211
mMRw1 7902 0w is flawed; we can no longer assume that she was nXw°1 as a
79n2. It is the assumption of Mo0In that if there is no 9P, it is considered as
if MRw*1 M2 0°w1 211 is nonexistent. The opposing 1% W° 77302 DRW°1T 21
77 cancels out the MXW 1 M?N2 2°w1 217. Therefore if there is no 9P, two
0>7v are required to establish her as a 77102,

nooIN asks:
- 113‘\1)\9‘,7: INTY N 15‘11)2 19919 BININI 1IN (x,n5 1Y) 1°79°92 130T NN

It is astounding! For we have learnt in a mw» in this P99, ‘these people
are believed to testify in their adulthood what the saw in their

childhood’. The 7wn enumerates:
= $)99 NYNT N1I11PNAa ANNIY HI993 239997

‘I remember that woman who appeared (at her marriage ceremony) with

a X»157 and uncovered hair’; indicating that she was a 791n2. This concludes the

quote from the m1wn.
= NIYL INMD N2 9IND)

And the X923 comments; what is the reason that he is believed to testify in this
instance. He was only a Jup when he observed it, and a jop is m7v2 9109, The X there
explains —

= NIN NIYYA RN %) HHINY MHINA 0OWI 2997 )15
Since most women get married as n»I1na, therefore when he testifies that
she was a 7102 it is not considered an actual testimony, but rather it is

merely revealing something that is evident anyway.”

This concludes the quote from the ¥ n3. N190IN continues with the question:
= 99910920 XYM

And now let us consider, what occurred in that mwn? -

" The X there qualifies this ruling that it is necessary that another person, who saw it as an adult, testify
with him.
* The reason for the necessity of testimony at all, will become apparent later in this Moo,
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= NI 799975 N9 9Na Y1) *295 M1y oYW 1998 NNY P NY Y BN
if there is public awareness that she was a 79n2 why is any testimony
required at all according to 29; let us follow the majority, as the Xa2a

asks here; that since there is a 217, no M7y is required —
- DYIVUD DY MY IV NAY 1Y YITPN 19 BN 1P 1Y PR N

And if there is no ®p that she was a 771n2; if that is true, then her 2 is

flawed and two 2> 277v should be required to testify that she is a 72n2;"
not merely those who saw 1n11vpP2, and are not 2°Ww2 o7v.°

mooIN anticipates a possible solution, and refutes it:
= DY 1952UN 1Y NN NVIPA NRIY NIN TIYNRYIT NN *D)

And if you will claim that the reason it is not 7217 7% ¥y7n°R, is that when he
testifies what he saw as a minor, and another adult (who observed it as an

adult) testifies with him; this testimony itself is considered a ®p. Therefore
his testimony (together with another adult) fulfills the requirement of creating a 7. Once
there is a 7p, she collects her full 7213, on account of the 217. Their testimony created
the 97; there is no 71217 777 YK,

mooIn rejects this idea that the testimony of these two alone can create a p:
- %Y%) YIPY 21N NIN 299 NN

for the X712 here challenges the idea that two 0°7¥ are to be believed when

there is no 7p, by arguing these (two who testify) are false witnesses. We
derive from this &77) that if there is no external 7, then even if two 2w 0*7Y testify
that she was a 72102, they cannot create a ‘71|?.7 Certainly there, where one 7v was not w2,
since he was 1n1vpa 11X, then certainly they cannot create a 7. The question remains: If
they cannot create a 7Ip, it becomes 77217 7% ¥7n°K, and two 0>Ww2 0°7v should be required.

Mo0IN answers:
- 99 A U MYINA MNYIIN DIWI 291 PIY MNY MIIND DI 2997 1YY U

And one can say that the fact that most women are married as mMIn3; this
21 is superior to the fact that most women who marry as n¥n2 have a

? mpon is maintaining what he previously stated (175 7"7), that this discussion is (only) according to 2.

* The 211 of Mxw NM91n2 w1 is flawed by the fact that there is no 217, which is an opposing 217. Our M5ON
assumes that the two contradictory s'217 cancel out each other. See ‘Overview’.

> This is seemingly what our 71w is teaching us; that if there is no 91, then 2> 0*7v are required.

% This charge was made when the X3 assumed that 217 7% @° 7202 NXw°37 93. See “Thinking it over’ # 1.

" If two 07y are sufficient to create a 27, then why are they considered >pw >170; there is a 71p. The o>y
themselves are the 91p. See, *> 71"'7 >"w1 where he states that if 917 7% w° then V7P 177 72777
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®p. The former 217 is superior to the latter .
= HINY MPINAT 299 79 Y5 ¥y99° XY Dp 1Y PN )

And therefore even if this particular woman has no 3 that she was married
as a 1n32, nevertheless the 219 of nmRws: nYn2 will not be that much

flawed, to the extent —
$IY AN VI NINIT MTY P N9Y

That the testimony of what he saw 1w together with another’s
testimony should not be sufficient to establish her as a 7912.

mooIn still maintains his previous conviction that (even) two 279 alone do not create a
2p. Therefore in the case of JMIvP1a X7, there was no 21p. However according to the Xipon
of the X7mx it is only 2P 7% w> M2 XY 217, not all M N2 MRw°17 have a 71p. If the
two majorities of M?N2 MRW"1 and 7P 177 w> M2 MXw1 would be equal, (and there was
no p) then they would cancel out each other and two 2w 2>7¥ would be required (as it
seems from our mwn). However mpooin teaches us that they are not equal. The 217 of
MIRW*1 M2IN2 is superior to the 217 of P 112 w> M21N2 nmRkw°l. Therefore even if there is no
27, we do not assume that they cancel out each other completely; it is merely that the 217
MR M7n2 o°w1 is only slightly flawed. To remedy this minor flaw and to substantiate
the MXW°1 M9N2 w1 2, it is sufficient to have one 7v who was 1nvpa XA together
with another 2w> 7V, to establish her as a 771n2.

SUMMARY

The 217 of MXW°1 M?102 o°w1 is superior to the 217 of 717 72 W 77102 MIXW 3.
If there is no 9p, there is only a minor XMy*1 in MKXY° M?N2 2°w3 277. This
XMy™ can be remedied if there is an 7v who saw 1M1vp2a together with an 7V
qw> that she was 121 Xm12°72 ARXO.

THINKING IT OVER

1. mooIn proved from the statement 173°1 *pW 770 °17, that 2°7¥ alone cannot
make a 9. Perhaps we can question this premise. The X3 stated this
when we assumed that 739 7% ¥ 79102 nxwo11 935, How do we know that this
is valid according to the Xipon that merely 7 7% w° 79902 nRwe17 21°?
Perhaps even two 279 alone can make a 77 (even if one of them was X"
MIvP)?

8 See, ‘Thinking it over’ # 2.
? See footnote # 6.
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2. How are we to understand the superiority of one 211 over the other? '° Is it
a matter of percentages, that one 211 has a greater percentage than the other;
or is there another way to explain the superiority of one 21 over the other?''

3. If we maintain 21777 1R 17722 779717 PR, what would be the 17 if one of the
two 07V was testifying 101w AxW 71, does she collect her 7121037

10°gee footnote # 8.
'See: " mx X702 w7,
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